
Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

1 1180.0 CHANGE-OVER RELAY 5-PIN, WITH FIXING BRACKET 16,59 €

6 2338.6 VIALLE USER MANUAL LPi NEDERLANDS 0,02 €

6 2338.6EN VIALLE USER MANUAL LPi ENGLISH 0,02 €

6 2338.6DE VIALLE USER MANUAL LPi DEUTSCH 0,02 €

6 2338.6FR VIALLE USER MANUAL LPi FRANCAIS 0,02 €

6 2338.6IT VIALLE USER MANUAL LPi ITALIANO 0,02 €

6 2394.0 POUCH FOR DOCUMENTS 6,87 €

6 2410.0 TYRE REAIPR SET SLIME 44,16 €

6 2462.3 VIALLE USER MANUAL LPdi (NL) 0,02 €

6 2462.3DE VIALLE USER MANUAL LPdi (DE) 0,02 €

6 2462.3EN VIALLE USER MANUAL LPdi (EN) 0,02 €

6 2462.3FR VIALLE USER MANUAL LPdi (FR) 0,02 €

6 2462.3IT VIALLE USER MANUAL LPdi (IT) 0,02 €

6 2536.0 NOTE BLOCK A4 8,69 €

6 2537.0 FLAG 1500x2250MM, VIALLE LOGO 55,30 €

6 2538.0 NOTE BLOCK A6 6,32 €

6 2540.0 USB STICK 4GB, VIALLE LOGO 27,65 €

6 2544.0S POLO SHIRT VIALLE GENTS, size: S on request

6 2544.0M POLO SHIRT VIALLE GENTS, size: M on request

6 2544.0L POLO SHIRT VIALLE GENTS, size: L on request

6 2544.0XL POLO SHIRT VIALLE GENTS, size: XL on request

6 2544.0XXL POLO SHIRT VIALLE GENTS, size: XXL on request

6 2545.0S JACKET SOFTSHELL VIALLE GENTS, size: S on request

6 2545.0M JACKET SOFTSHELL VIALLE GENTS, size: M on request

6 2545.0L JACKET SOFTSHELL VIALLE GENTS, size: L on request

6 2545.0XL JACKET SOFTSHELL VIALLE GENTS, size: XL on request

6 2545.0XXL JACKET SOFTSHELL VIALLE GENTS, size: XXL on request

6 2548.0 K- VIALLE BAG FILLER ADAPTORS 10,27 €

6 2554.0S POLO SHIRT VIALLE LADIES, size: S on request

6 2554.0M POLO SHIRT VIALLE LADIES, size: M on request

6 2554.0L POLO SHIRT VIALLE LADIES, size: L on request

6 2554.0XL POLO SHIRT VIALLE LADIES, size: XL on request

6 2554.0XXL POLO SHIRT VIALLE LADIES, size: XXL on request

6 2555.0S JACKET SOFTSHELL VIALLE LADIES, size: S on request

6 2555.0M JACKET SOFTSHELL VIALLE LADIES, size: M on request

6 2555.0L JACKET SOFTSHELL VIALLE LADIES, size: L on request

6 2555.0XL JACKET SOFTSHELL VIALLE LADIES, size: XL on request

6 2555.0XXL JACKET SOFTSHELL VIALLE LADIES, size: XXL on request

1 & 4 3429.0 VALVE 11W 38,08 €

4 3433.0 VAPORISER FILTER SET 28,28 €

1 3453.0 SHUT-OFF VALVE LPG F4 MED AMP SUPERSEAL 2P 42,50 €

2 3461.0 VALVE 8W 41,56 €

1 3474.1 SHUT-OFF VALVE LPG LPfi 65,18 €

1 3475.0 SHUT-OFF VALVE LPG LPdi (FSU) 46,92 €

2 6359.2 SET REVISION VAPORISER F4/F5 181,71 €

4 6719.0 WATERPIPE SET D=16 21,17 €

4 6812.0 GAS EXIT ASSEMBLY 17x15 INCH 29,23 €

2 7021.0 TANK STRAP INSULATION L= 1,00 MTR. 2,77 €

2 7223.0 STRAPS CYLINDRICAL TANK L= 1,30 MTR. (2x) 16,43 €

2 7224.0 STRAPS CYLINDRICAL TANK L= 1,80 MTR. (2x) 22,75 €

1 7233.0 FUEL LINE L= 50 MTR. 214,88 €

2 7343.0 TANK GROMMET 2,21 €

2 7498.2 EXTENSION FILLER 48,19 €

2 7515.2 VENTILATION HOSE, D=32 5,72 €

2 7552.1 BAYONET TYPE 90 DEGREE FILLER 33,53 €

2 7847.2 FILLER ADAPTOR E.F. RIGHT 31,05 €

2 7878.0 FILLER ADAPTOR BAYONET 21,49 €

2 7887.0 FILLER BAYONET MODEL (MALE) FOR TOMASETTO MODEL FILLER VALVE 40,21 €

2 7888.0 FILLER ACME MODEL (MALE) FOR TOMASETTO MODEL FILLER VALVE 29,31 €

2 7889.0 FILLER ADAPTOR TOMASETTO TYPE 1, DISH (SHORT) 7,83 €

2 8002.0 FILLER ADAPTOR TOMASETTO TYPE 1, DISH (LONG) 11,77 €

2 8011.0 FILLER ADAPTOR D=8mm (FEMALE) TOMASETTO FILLER VALVE 10,19 €

2 8012.0 FILLER VALVE TYPE ACME 90 DEGREE 48,35 €

2 8017.0 FILLER ADAPTOR-TOMASETTO BAJONET SHORT TYPE2 42,43 €

2 8018.0 FILLER ADAPTOR-TOMASETTO ACME SHORT TYPE2 38,55 €

2 8019.2 SET MOUNTING STRAPS CYLINDRICAL TANK 34,98 €

2 8020.0 FILLER ADAPTOR-TOMASETTO ITALIE SHORT TYPE2 11,46 €

2 8021.0 OUTSIDE FILLER-TOMASETTO TYPE2 14,14 €

All prices excl. tax.       Page 1



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

2 8022.0 NIPPLE FILLER MALE/MALE 4,66 €

2 8023.0 FILLER ADAPTOR-TOMASETTO ITALY LONG TYPE2 19,28 €

2 8025.0 FILLER TYPE EURO-90 DEGREE 36,42 €

2 8028.0 FILLER BAYONET LONG MODEL (FEMALE) FOR TOMASETTO FILLER VALVE 30,81 €

2 8029.0 FILLER ADAPTOR-TOMASETTO ACME LONG TYPE2 25,04 €

2 8030.0 FILLER TYPE EURO-STRAIGHT 1/2SAE 36,42 €

2 8031.0 FILLER ADAPTOR-TOMASETTO EURO TYPE2 27,18 €

2 8032.0 KIT BASIC TOMASETTO WITH HOUSING 7,82 €

2 8033.0 NIPPLE FILLER ADAPTOR, M16 TO W21,8 12,40 €

2 8041.0 FILLER ADAPTOR ACME 15,77 €

2 8061.0 FILLER ADAPTOR ITALY 13,83 €

2 8069.0 CLAMPING BRACKET D=20, L= 5 0,71 €

1 8216.0 SET INTERRUPT RELAYS-RELAYS AND CABLE LOOM 149,95 €

2 8220.0 SERVICING SET MV1 CARTRIDGE 383,72 €

2 8221.0 UNIVERSAL SERVICING SET MV1 CYLINDRICAL TANK 251,39 €

2 8222.0 UNIVERSAL SERVICING SET MV1 TOROIDAL TANK 251,39 €

2 8223.1 SERVICE PUMP PTC20 305,39 € * pledge 50,-€

2 8225.1 PUMP OIL 1 LITRE 188,80 €

2 8226.0 TANK CONTENTS METRE TCM 79,40 €

2 8227.0 YELLOW SEAL WAX MV 38,71 €

5 8230.9 SET DIAGNOSTIC TOOLKIT LPi  V2.3.0.5 (NL/E/F/D/PL/I/CZ) 529,25 €

6 8235.1 TYRE REPAIR SET SLIME 78,66 €

1 8237.1 SET SERVICE NON RETURN VALVE MALE - FEMALE, M10 23,70 €

2 8249.0 SET SERVICE MV48/F FILTER REPLACEMENT 33,34 €

2 8251.0 CONNECTION 180 DEGREE-UNIVERSAL Ø8mm FILLING HOSE 25 PCS. 71,18 €

2 8252.0 NUT-UNIVERSAL Ø8mm FILLING HOSE 50 PCS. 62,02 €

2 8253.0 OLIVE-UNIVERSAL Ø8mm FILLING HOSE 50 PCS. 52,93 €

2 8254.0 CONNECTION 90 DEGREE-UNIVERSAL Ø8mm FILLING HOSE 25 PCS. 131,31 €

2 8255.0 NUT 1/4 G UNIVERSAL D=8MM FILLING HOSE 25 PCS. 76,63 €

1 8258.0 SET SERVICE LPdi HP-PUMP MODIFICATION HITACHI 252,80 €

1 8261.1 SHELL INNER-UNIVERSAL Ø8mm INJECTORE HOSE  SET OF 50 PCS. 127,75 €

1 8262.1 OLIVE - UNIVERSAL Ø8mm INJECTORE HOSE  SET OF 50 PCS. 19,01 €

1 8263.1 SHELL OUTER- UNIVERSAL Ø8mm INJECTOR HOSE 50PCS. 118,66 €

1 8264.1 PILLAR BANJO M10 UNIVERSAL Ø8mm INJECTOR HOSE 25PCS. 75,53 €

1 8265.1 PILLAR STRAIGHT UNIVERSAL Ø8mm INJECTOR HOSE 25PCS. 26,06 €

2 8266.0 SET MODIFICATION MV48 TO MV48/3 52,93 €

1 8268.0 FLAIR INVERTED Ø8mm 32,88 €

2 8270.0 SET ADDITIONAL- GAS TIGHT HOUSING PTS48 58,62 €

2 8271.0 MOUNTING KIT TOROIDAL TANK, D=600-720 29,34 €

2 8272.0 FILTER REPL.SET FILLERHOSE PTS48 35,54 €

1 8281.0 SET SERVICE NON RETURN VALVE FEMALE - FEMALE, M10 23,70 €

6 8282.0 FILLER ADAPTORS BAG KIT, VIALLE 90,29 €

2 8399.1 KIT BASIC TOMASETTO MODEL TYPE 1 M10 88,64 €

2 8395.0 SET STEEL SPACERS FOR TANK MOUNTING H=4x5 / 4x10 / 4x20 10,04 €

2 8395.0 SET STEEL SPACERS FOR TANK MOUNTING H=4x5 / 4x10 / 4x20 10,04 €

2 8581.0 SUPPLEMENTARY KIT - COVER FILLER VALVE 18,69 €

2 8799.0 KIT BASIC TOMASETTO MODEL TYPE 2 M16 75,29 €

2 8843.0 SUPPLEMENTARY KIT TANKFRAME 73,00 €

2 8890.0 ADAPTOR SET TOMASETTO FILLER HOSE 23,39 €

2 8892.0 SUPPLEMENTARY KIT-TANK TOROIDAL CENTREFILLED 19,59 €

4 9336.5 ACTUATOR D=10 ( MOUNTING ON VAPORISER) 99,23 €

4 9338.3 ACTUATOR D=10 ( INSERTING INTO HOSE) 114,64 €

1 9717.2 SWITCH AMS L= 3000 49,54 €

1 9820.1 WIRING LOOM RELAIS 5 PIN, WATERPROOF 46,92 €

1 9937.1 WIRING LOOM FOR INTERRUPT RELAY 31,84 €

1 14057.0 NUT M10x1 2,61 €

1 14650.0 SCREW M5x10 0,27 €

2 14671.0 SOCKET SCREW M10x40 2,92 €

2 14683.0 BOLT MULTIVALVE PTS48 1,19 €

2 14702.0 SOCKET SCREW M10x20 1,34 €

2 14714.0 SOCKET SCREW M10x60 4,50 €

2 14728.0 SCHROEF CILK- BZSK SPEC. M8x20 1,03 €

2 14731.0 SCHROEF VERZ- M8x50 2,05 €

2 14744.0 SOCKET SCREW M5x10 DIN912 1,03 €

2 16107.1 TENSIONING HOOK TRIANGULAR 5,53 €

2 & 4 16274.0 SQUEEZE NUT, COPPER PIPE 17,40 €

2 16587.0 FILLER CAP FOR BAYONET FILLERS 'AUTOGAS' 9,56 €

4 16619.0 BALANCE PIPE STRAIGHT 90 DEGREE D=29 2,21 €

All prices excl. tax.       Page 2



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

2 16657.0 CLAMPING BRACKET D=35 7,51 €

2 16659.0 COVER FILLER VALVE 5,45 €

1 16706.4 SWITCH LPe 4/5/6 52,22 €

2 16711.0 RECESSED BAYONET TYPE FILLER SET 35,09 €

2 16731.0 CLAMPING BRACKET D=24 1,19 €

2 16797.1 SPACER- C50 M10x50 18,09 €

1 16804.0 PLUG-  ADAPTER 7,74 €

2 16923.0 WIRE CLIP 2,13 €

2 16933.0 HOUSING FOR TYPE ACME FILLER VALVE 19,59 €

6 16975.0 COVER FOR SPARE WHEEL LARGE TYPE 30,10 €

2 16999.2 SPACER-PUMP COVER MV 2,61 €

2 17511.1 FILLER ADAPTOR ITALY (TO COPPER PIPE) 14,85 €

1 17543.0 NIPPLE LONG 14,06 €

1 17547.0 NIPPLE SHORT 14,06 €

1 18757.1 SUPPORT RING 20x3,5 1,26 €

2 18809.1 HEAT SHIELD 600x250x1,5 23,05 €

2 18825.1 HEAT SHIELD TYPE FOIL 24,33 €

1 19313.0 O-RING 48,0x3  (FOR INTERMEDIATE PLATE 270180.2) 0,40 €

1 19323.0 O-RING 62,0x3  (FOR INTERMEDIATE PLATE 270226.0) 3,00 €

1 19408.0 O-RING 27,1x1,6MM (FOR GROMMET 250296.1) 0,11 €

1 19441.0 O-RING 5,2x2,62 1,11 €

1 19443.0 O-RING 9,1x1,6 4,42 €

1 19457.0 O-RING 107,54x3,53 25,83 €

1 19485.0 O-RING 3,0x1,5 GLT 0,87 €

1 19487.0 O-RING 14,0x3 2,13 €

1 19492.0 O-RING 12,0x3 1,63 €

1 19493.0 O-RING 8,0x1,5 (2 NECESSARY FOR EACH DISCHARGE PIPE) 0,87 €

2 19515.0 GASKET MULTIVALVE, PTS-48 50x2,6 5,61 €

2 20030.0 FILLER ADAPTOR (LONG) SET ACME 81,06 €

2 20061.0 CUTTING RING Ø8mm 1,59 €

5 20132.2 G- TOOLING FLOATER ADJUSTMENT MV48/F 89,27 €

2 20145.0 PILLAR ADAPTER FILLING FILTER SUPERFLEX 26,15 €

2 20156.1 ADAPTER SLEEVE M12x18 COPPER TUBE 2,13 €

2 20161.0 CLAMPING BRACKET Ø8mm UNIVERSAL FILLING HOSE 1,19 €

2 20180.0 CLIP TCM, PTS48 0,82 €

1 20181.0 PUSH FIT-  SLEEVE 2,21 €

2 20190.0 FILTER END CAP MV48/F 12,72 €

2 20191.0 RING SEEGER- J24 0,55 €

5 20204.0 G- TOOLING UNIVERSAL ADAPTER MOUNTING 5,86 €

1 20215.0 NUT SEALING- 0,95 €

2 20428.1 PLATE 60x40x4 1,82 €

2 20743.1 CLAMP BRACKET TANK CYLINDRICAL 9,88 €

1 21260.0 UNIVERSAL COUPLING BLOCK BRACKET 11,85 €

2 21262.0 BRACKET TOROIDAL TANK 6,00 €

2 21298.1 PLATE 100x100x 5 7,19 €

1 21324.0 UNIVERSAL COUPLING BLOCK BRACKET 11,85 €

2 21348.0 MOUNTING STRAP FOR TOROIDAL TANKS D600 UP TO D720 4,58 €

2 21349.0 MOUNTING STRAP FOR TOROIDAL TANK D720 / H270 36,17 €

1 21350.0 UNIVERSAL LPe7 BRACKET SHORT 7,11 €

2 21351.0 MOUNTING STRAP TOROIDAL CENTERFILLED TANK 110x40x4 55,30 €

1 21357.0 FUELRAIL BRACKET 2 CYLINDER 24,65 €

1 21358.0 FUELRAIL BRACKET 3 CYLINDER 24,65 €

1 21359.0 FUELRAIL BRACKET 4 CYLINDER 24,65 €

1 21383.0 FUELRAIL BRACKET 1 CYLINDER 24,65 €

1 21408.0 FUELRAIL BRACKET 6 CYLINDER 28,76 €

2 21423.0 MOUNTING BRACKET SMALL TOMASETTO FILLER VALVE 24,65 €

2 21426.0 MOUNTING BRACKET LARGE TOMASETTO FILLER VALVE 24,65 €

1 21442.1 BRACKET FSU UNIVERSAL 32,87 €

2 21455.0 SUPPORT HOSES PTS48 34,05 €

2 21460.0 BRACKET TANKSTRAP CYLINDRICAL TANKFRAME 9,09 €

5 27868.0 MV2 TANK DIAGNOSIS WIRING SET 101,92 €

5 27894.0 BLOW-OFF PIPE MV2 13,27 €

5 27900.1 LDT KEY 356,69 €

2 81721.0 TANK FRAME CYLINDRICAL TANK 55L D360 110,59 €

2 81723.0 TANK FRAME CYLINDRICAL TANK 60L D320 99,78 €

2 81725.1 TANK FRAME CYLINDRICAL TANK 70L D320 125,38 €

2 81726.0 TANK FRAME CYLINDRICAL TANK 70L D360 91,25 €

2 81727.2 TANK FRAME CYLINDRICAL TANK 85L D360 91,25 €

All prices excl. tax.       Page 3



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

2 81836.1 TANK FRAME CYLINDRICAL TANK 100L D360 127,83 €

2 81869.0 TANK FRAME CYLINDRICAL TANK 130L D360 107,13 €

2 81872.0 TANK FRAME CYLINDRICAL TANK 158L D450 160,52 €

2 81873.0 TANK FRAME CYLINDRICAL TANK 178L D450 91,25 €

2 81875.0 TANK FRAME CYLINDRICAL TANK 118L D450 91,25 €

1 202262.9 E- LPe4 WITH CALIBRATION FILE 205911.1 387,12 €

1 202640.0 E- LPe6.4 WITH MASTER FILE 205912.3 387,12 €

1 202660.0 E- LPe6.6 WITH MASTER FILE 205913.3 387,12 €

1 202700.0 E- LPe7 WITH MASTER FILE 206920.8 466,13 €

1 207139.1 INTERRUPT RELAY WITH SPOOLS 160,62 €

1 207199.0 PETROL GAUGE RESET UNIVERSAL 15,56 €

3 207321.1 SUPPLEMENTARY WIRING LOOM SET LPe4 25,52 €

1 207349.3 INTERRUPT RELAY LPe6.6 32,87 €

3 207364.0 WIRING EXTEND 1E PETROL INJECTOR 16,43 €

3 207411.1 WIRING LOOM LPe4 MV2 L= 1000 142,37 €

3 207413.1 WIRING LOOM LPe4 MV2 L= 2050 142,37 €

3 207421.0 UNIVERSAL BATTERY LEADS, L= 500 57,36 €

3 207423.0 UNIVERSAL BATTERY LEADS, L= 1000 59,57 €

3 207431.1 WIRING LOOM INJECTOR, L= 150 68,35 €

3 207433.1 WIRING LOOM INJECTOR, L= 700 29,78 €

1 207457.4 ENGINE RUNNING MODULE 63,99 €

3 207458.0 WIRING LOOM ADAPTER, 2x3/2+6 PIN 19,20 €

3 207459.3 SUPPLEMENTARY WIRING LOOM KIT LPe7 UNIVERSAL 46,06 €

3 207471.2 WIRING LOOM LPe6 L= 550 178,87 €

3 207474.2 WIRING LOOM LPe6 L= 1300 178,87 €

3 207475.0 WIRING LOOM INJECTOR 5 CYLINDER, L= 500 10,98 €

3 207476.0 WIRING LOOM INJECTOR 6 CYLINDER, L= 500 10,98 €

3 207477.1 WIRING LOOM LPe7 L= 550 365,55 €

3 207478.1 WIRING LOOM LPe7 L= 1300 378,04 €

3 207479.1 SUPPLEMENTARY WIRING LOOM SET LPe6 41,56 €

3 207485.2 WIRING LOOM LPE7 PTS (SHORT) 217,89 €

3 207486.2 WIRING LOOM MV3 UNIVERSAL L1= 1750 / L2= 1500 390,28 €

1 207488.1 REPLACEMENT RESISTOR LPe7 45,11 €

3 207489.1 SUPPLEMENTARY WIRING LOOL KIT MV3 V8 UNIVERSAL 59,57 €

3 207495.1 WIRING LOOM MV3 V8 L1=1750 / L2= 1500 UNIVERSAL 366,56 €

1 207530.2 SWITCH LPE7  51,98 €

3 207611.2 WIRING LOOM LPdi 352,83 €

2 207618.1 WIRING LOOM PTS48 9,40 €

3 207624.1 WIRING LOOM ADAPTER LPE7, PTS TO PTC 6,72 €

3 207626.0 WIRING LOOM PRESSURESENSOR PTC / PTS 11,46 €

5 207640.1 LPi DIAGNOSTIC TOOL CABLE, L= 3000 55,78 €

1 240020.7 COUPLING BLOCK WITH MOUNTING SET LPe 4/5/6 355,91 €

1 240030.0 COUPLING BLOCK WITH MOUNTING SET LPe7 355,91 €

1 240035.0 PIPE COUPLING UNITS LPi-S 146,00 €

1 240050.3 FUEL SELECTOR UNIT LPdi E4-67R010232 774,84 €

1 240055.0 FUELLINE CONNECTION UNIT LPfi 74,97 €

1 240411.2 MOUNTING SET COUPLING BLOCK M10 46,92 €

1 240428.1 PRESSURE SENSOR 167,57 €

1 240433.1 SET ASSEMBLY UNIVERSAL FSU 46,93 €

1 242009.0 INSULATION HOSE D=25,4 2,21 €

1 242039.1 BANJO BOLT M10x25 1,11 €

1 242040.0 BONDED SEAL M10, LPi / LPfi 1,11 €

1 242068.0 INJECTOR LINE, L= 150 S/S 17,93 €

1 242073.0 INJECTOR LINE, L= 600 B/S 26,85 €

1 242074.0 INJECTOR LINE, L= 650 B/S 26,85 €

1 242075.0 INJECTOR LINE, L= 850 B/S 31,59 €

1 242076.0 INJECTOR LINE, L= 700 B/S 31,59 €

1 242078.0 INJECTOR LINE, L= 800 B/S 31,59 €

1 242089.0 BANJO BOLT DOUBLE M10 11,46 €

1 242134.0 INJECTOR LINE, L= 200 S/S 17,93 €

1 242135.0 INJECTOR LINE, L= 180 S/S 17,93 €

1 242140.0 INJECTOR LINE, L= 160 S/S 17,93 €

1 242141.0 INJECTOR LINE, L= 170 S/S 17,93 €

1 242142.0 INJECTOR LINE, L= 250 S/S 17,93 €

1 242145.0 INJECTOR LINE, L= 550 B/S 25,27 €

1 242147.0 INJECTOR LINE, L= 1000 B/S 33,96 €

1 242150.0 INJECTOR LINE, L= 190 S/S 17,93 €

1 242151.0 INJECTOR LINE, L= 400 B/S 22,11 €

All prices excl. tax.       Page 4



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

1 242152.0 INJECTOR LINE, L= 300 S/S 18,95 €

1 242170.0 INJECTOR LINE, L= 450 B/S 22,90 €

1 242178.0 INJECTOR LINE, L= 300 B/S 20,53 €

1 242180.0 INJECTOR LINE, L= 600 S/S 24,48 €

1 242211.0 INJECTOR LINE, L= 500 B/S 24,48 €

1 242213.0 INJECTOR LINE, L= 1100 B/S 35,54 €

1 242315.0 INJECTOR LINE, L= 250 B/S 18,95 €

1 242324.0 INJECTOR LINE, L= 900 B/S 31,59 €

1 242331.0 INJECTOR LINE, L= 950 B/S 32,79 €

1 242414.0 INSULATION CONSUMPTION PIPE 2,53 €

1 242421.0 INJECTOR LINE, L= 450 S/S 22,11 €

1 242430.0 INJECTOR LINE, L= 500 S/S 22,58 €

1 242433.0 INJECTOR LINE, L= 100 S/S 17,93 €

1 242437.0 INJECTOR LINE, L= 700 S/S 26,53 €

1 242438.0 INJECTOR LINE, L= 125 S/S 17,93 €

1 242439.0 INJECTOR LINE, L= 350 S/S 19,74 €

1 242440.0 INJECTOR LINE, L= 400 S/S 20,53 €

1 242442.0 INJECTOR LINE, L= 750 B/S 28,68 €

1 242443.0 INJECTOR LINE, L= 1250 B/S 38,70 €

1 242480.0 BANJO INSERT- MALE 6,88 €

1 242481.0 BANJO INSERT- FEMALE 7,43 €

1 242483.0 FUELRAIL LINE, L= 100 B/B 17,93 €

1 242484.0 FUELRAIL LINE, L= 125 B/B 17,93 €

1 242485.0 FUELRAIL LINE, L= 150 B/B 18,95 €

1 242491.0 FUELRAIL LINE, L= 250 B/B 20,53 €

1 242496.0 FUELRAIL LINE, L= 500 B/B 25,27 €

1 242515.0 FUELRAIL LINE, L= 750 B/B 30,01 €

1 242519.0 FUELRAIL LINE, L= 1000 B/B 35,47 €

1 242521.0 FUELRAIL LINE, L= 1250 B/B 40,21 €

1 242523.0 INJECTOR LINE, L= 750 S/S 27,78 €

1 242524.0 INJECTOR LINE, L= 1000 S/S 32,36 €

1 242701.2 FUEL LINE KIT PTC, L= 4000 257,40 €

1 242705.2 FUEL LINE KIT PTC, L= 5000 288,82 €

1 242707.2 FUEL LINE KIT PTC, L= 5500 314,44 €

1 242711.2 FUEL LINE KIT PTC, L= 6500 355,52 €

1 242716.1 HOSE PILAR BANJO FSU VERSION 3 2,18 €

1 242722.0 SEAL BONDED M10 MULTI-FUEL, LPdi 1,58 €

3 242801.2 FUEL LINE KIT PTS, L= 4000 270,34 €

3 242805.2 FUEL LINE KIT PTS, L= 5000 314,44 €

3 242807.2 FUEL LINE KIT PTS, L= 5500 330,24 €

3 242811.2 FUEL LINE KIT PTS, L= 6500 374,48 €

3 242901.2 FUEL LINE KIT PTS48, L= 4000 267,03 €

3 242905.2 FUEL LINE KIT PTS48, L= 5000 311,28 €

3 242907.2 FUEL LINE KIT PTS48, L= 5500 330,24 €

3 242911.2 FUEL LINE KIT PTS48, L= 6500 371,32 €

2 250015.0 SEAL BONDED M12 6,95 €

2 250031.0 BULKHEAD FITTINGS FOR VENT HOSE, D=32 2,53 €

2 250296.1 GROMMET APPENDAGE CASE PLASTIC, D=32 2,61 €

2 250329.2 MOUNTING KIT TOROIDAL TANK 39,27 €

2 250330.4 MOUNTING KIT STANDARD TYPE CYLINDRICAL TANK D315 UP TO 360 57,26 €

2 250395.2 MOUNTING KIT TOROIDAL TANK, UNDER-CHASSIS 132,62 €

2 250399.4 MOUNTING KIT STANDARD TYPE CYLINDRICAL TANK D450 159,18 €

2 250512.2 PUMP COVER MULTIVALVE PTC 14,46 €

2 250525.2 MOUNTING KIT TWIN TANK UNDER-CHASSIS 66,60 €

2 250527.2 MOUNTING KIT CF TOROIDAL TANK (TOP MOUNTING) 39,27 €

2 250528.2 MOUNTING KIT CF TOROIDAL TANK (BOTTOM MOUNTING) 39,27 €

2 250587.1 SERVICE - MV2 - PTC20 D450 EX. PRV 908,87 €

2 250588.0 SERVICE - MV2 - PTC20 D320 908,87 €

2 250589.0 SERVICE - MV2 - PTC20 D360 908,87 €

2 250590.0 SERVICE - MV2 - PTC20 H230 908,87 €

2 250591.0 SERVICE - MV2 - PTC20 H250 908,87 €

2 250592.0 SERVICE - MV2 - PTC20 H270 908,87 €

2 250598.0 SERVICE - MV2 - PTC20 TWIN D360/320 908,87 €

2 250602.0 FILTER MULTIVALVE PTS 19,44 €

2 250611.2 FILTER PTS PUMP 1,12 €

1 250627.1 PRESSURE SENSOR MV3 167,57 €

2 250647.2 MOUNTING KIT TOROIDAL TANK, UNDER-CHASSIS 199,88 €

2 250651.0 GAS TIGHT HOUSING MV2/MV3 24,02 €

All prices excl. tax.       Page 5



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

2 250742.0 PUMP COVER MV48/F 9,64 €

2 250749.0 UNIVERSAL FILLING HOSE D=8, L= 50 MTR. 226,82 €

2 250774.0 SERVICE PUMP PTS-40-MV48/F 228,16 €

2 250795.0 SERVICE PUMP PTS-30 MV3 RING 228,16 €

2 250796.0 SERVICE PUMP PTS-30 MV3 CYL 228,16 €

2 250797.0 SERVICE PUMP PTS-40 MV3 RING 228,16 €

2 250798.0 SERVICE PUMP PTS-40 MV3 CYL 228,16 €

2 250799.0 SERVICE PUMP PTS-50 MV3 RING 283,78 €

2 250800.0 SERVICE PUMP PTS-50 MV3 CYL 283,78 €

2 250801.0 SERVICE - MV3 - PTS-50 D320 932,58 €

2 250802.0 SERVICE - MV3 - PTS-50 D360 943,42 €

2 250804.0 SERVICE - MV3 - PTS-50 R230 908,87 €

2 250805.0 SERVICE - MV3 - PTS-50 R250 908,87 €

2 250806.0 SERVICE - MV3 - PTS-50 R270 908,87 €

2 250807.0 SERVICE MV3 / PUMP PTS-40 D320 908,87 €

2 250808.0 SERVICE MV3 / PUMP PTS-40 D360 908,87 €

2 250809.0 SERVICE MV3 / PUMP PTS-40 R230 908,87 €

2 250810.0 SERVICE MV3 / PUMP PTS-40 R250 908,87 €

2 250811.0 SERVICE MV3 / PUMP PTS-40 R270 908,87 €

2 250843.0 SERVICE - MV3 - PTS-50 D450 EX. PRV. 947,67 €

2 250853.0 PUMP COVER MULTIVALVE PTS48 26,07 €

2 250863.0 SERVICE - MV2 - PTC20 D450 WITH PRV 932,58 €

2 250869.0 SERVICE - MV3 - PTS50 D450 WITH PRV 932,58 €

2 250879.1 PTC CONTROL LPi / LPdi / DirectBlue 271,93 €

2 250883.0 SERVICE - MV3 - PTS-50 TWIN D360/320 908,87 €

1 270018.1 ADAPTER SHORT 7,58 €

1 270019.4 INJECTOR SAFETY CLIP 1,34 €

1 270022.1 CLAMPING PLATE INJECTOR / LINES 1,11 €

1 270074.0 ADAPTER ADHESIVE 7,58 €

1 270119.0 ADAPTER LONG 27,16 €

1 270145.0 DISCHARGE HOSE SET 189,45 €

1 270146.0 DISCHARGE PIPE 90 DEGREE L= 18 9,16 €

1 270147.0 DISCHARGE PIPE 90 DEGREE L= 21 26,85 €

1 270148.0 DISCHARGE PIPE 90 DEGREE L= 25 30,01 €

1 270150.0 DISCHARGE PIPE 60 DEGREE 40,13 €

1 270151.0 DISCHARGE PIPE 70 DEGREE 40,78 €

1 270180.2 INTERMEDIATE PLATE ASSEMBLY BMW N42/N46 272,42 €

1 270226.0 INTERMEDIATE PLATE ASSEMBLY WORLD ENGINE 2.0/2.4i 16V 299,43 €

1 270235.0 OLIVE ASSEMBLY FOR ALLFITT 25,20 €

1 270260.0 DISCHARGE HOSE SET L=200 (8x) (CLAMP) 118,54 €

1 272682.1 INJECTOR V12 YELLOW 154,21 €

1 272684.1 INJECTOR V17 BROWN 154,21 €

1 272685.1 INJECTOR V20 WHITE 154,21 €

1 272892.0 FUELRAIL INJECTOR SET V20 1x 175,23 €

1 272893.0 FUELRAIL INJECTOR SET V20 2x 350,38 €

1 272894.0 FUELRAIL INJECTOR SET V20 3x 525,62 €

1 272895.0 FUELRAIL INJECTOR SET V20 4x 700,77 €

1 272950.1 INJECTOR V28 DARK-BROWN 154,21 €

1 2721183.0 SERVICE INJECTOR GEN-II K15, BLUE 154,22 €

1 2721193.0 SERVICE INJECTORS GEN-II K15, BLUE (12x) 1.625,15 €

1 274104.0 END PLUG FUELRAIL 4,27 €

1 274105.0 CONNECTING RING FUELRAIL 2,92 €

1 274121.1 FUELRAIL INJECTOR V12 154,21 €

1 274122.1 FUELRAIL INJECTOR V15 154,21 €

1 274123.1 FUELRAIL INJECTOR V17 154,21 €

1 274124.1 FUELRAIL INJECTOR V20 154,21 €

1 274128.0 CONNECTING CLIP FUELRAIL 2,21 €

1 274129.1 FUELRAIL INJECTOR V28 154,21 €

1 274216.0 SEAL DISCHARGE PIPE FUELRAIL 0,40 €

1 274220.0 HOSE PROTECTION FUELRAIL MODIFIED PP 1,03 €

1 274221.2 ADDAPTER NIPPLE FUELRAIL 2,53 €

1 274222.0 HOSE ALLFIT 3,0x1,0 FUELRAIL 2,69 €

1 274224.0 DISCHARGE PIPE BOLT FUELRAIL L= 25 6,64 €

1 274225.1 DISCHARGE PIPE ASSY. FUELRAIL L= 200 26,07 €

1 274226.0 DISCHARGE PIPE ASSY. FUELRAIL L= 250 26,07 €

1 274233.2 DISCHARGE PIPE FUELRAIL L= 200 26,46 €

1 274239.0 DISCHARGE PIPE FUELRAIL L= 250 26,46 €

1 274240.1 NOZZLE THREADED L= 150 16,99 €

All prices excl. tax.       Page 6



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

1 274247.1 LEAD THROUGH INJECTOR PIPE 26,46 €

1 274249.1 HOLDER INJECTOR ASSY.- UNIVERSAL LPfi 10,98 €

1 274252.0 NOZZLE INJECTOR ASSY. UNIVERSAL L= 150 24,25 €

1 274253.1 INJECTOR ASSY. L= 150 43,61 €

1 274254.0 NOZZLE INJECTOR ASSY. UNIVERSAL L= 200 24,25 €

1 274255.0 INJECTOR ASSY. L= 200 43,61 €

1 274260.0 NOZZLE WITH ADAPTER ASSEMBLY 22,04 €

2 310020.2 MV48/F-PTS40 ASSY EXT H200. E67R01 569,38 €

2 310022.2 MV48/F-PTS40 ASSY EXT H220. E67R01 569,38 €

2 310023.2 MV48/F-PTS40 ASSY EXT H230. E67R01 569,38 €

2 310024.2 MV48/F-PTS40 ASSY EXT H240. E67R01 569,38 €

2 310025.2 MV48/F-PTS40 ASSY EXT H250. E67R01 569,38 €

2 310027.2 MV48/F-PTS40 ASSY EXT H270. E67R01 569,38 €

2 310120.2 MV48/F-PTS48 ASSY CYL D200. E67R01 569,38 €

2 310124.2 MV48/F-PTS40 ASSY CYL D244. E67R01 569,38 €

2 310127.2 MV48/F-PTS40 ASSY CYL D270. E67R01 569,38 €

2 310130.2 MV48/F-PTS40 ASSY CYL D300. E67R01 569,38 €

2 310132.2 MV48/F-PTS40 ASSY CYL D315. E67R01 569,38 €

2 310136.2 MV48/F-PTS40 ASSY CYL D360. E67R01 569,38 €

2 310140.2 MV48/F-PTS40 ASSY CYL D400. E67R01 569,38 €

2 310318.2 MV48/F-PTS40 ASSY TOR H180. E67R01 569,38 €

2 310320.2 MV48/F-PTS40 ASSY TOR H200. E67R01 569,38 €

2 310322.2 MV48/F-PTS40 ASSY TOR H220. E67R01 569,38 €

2 310323.2 MV48/F-PTS40 ASSY TOR H230. E67R01 569,38 €

2 310324.2 MV48/F-PTS40 ASSY TOR H240. E67R01 569,38 €

2 310325.2 MV48/F-PTS40 ASSY TOR H250. E67R01 569,38 €

2 310327.2 MV48/F-PTS40 ASSY TOR H270. E67R01 569,38 €

1 350007.2 BANJO BOLT, M10x 25 LPdi WITH FILTER 8,22 €

1 350008.1 BANJO BOLT, M10x 25 LPdi WITH ORIFICE 27,26 €

2 350010.1 SERVICE PTC-60 305,39 € * pledge 50,-€

1 350050.1 FUEL SELECTOR UNIT VERSION3 LPdi E4-67R010232 853,64 €

1 350060.4 E- INTERFACE LPdi v4.4 371,32 €

2 350523.0 SERVICE -MV2 PTC-60 H230 908,87 €

2 350525.0 SERVICE -MV2 PTC-60 H250 908,87 €

2 350532.0 SERVICE -MV2 PTC-60 H320 908,87 €

2 350536.0 SERVICE -MV2 PTC-60 H360 908,87 €

1 3508002.0 E- LPe7 WITH MASTER FILE 206962.0 LPdi 466,13 €

1 3508003.1 E- LPe7 WITH MASTER FILE 206963.1 LPdi 466,13 €

2 921002500 FILLER VALVE TYPE ACME STRAIGHT 42,65 €

2 3842347.0 TANK LPG TOR 47L-D600xH230, 67R01-0432 STAKO 422,66 €

2 3842351.0 TANK LPG TOR-CF-UP 51L-D600xH230, 67R01-0722 STAKO 417,92 €

2 3842355.0 TANK LPG TOR-CF 55L-D630xH230, 67R01-0722 STAKO 425,91 €

2 3842359.0 TANK LPG TOR-CF 59L-D650xH230, 67R01-0726 STAKO 444,15 €

2 3842552.0 TANK LPG TOR 52L-D600xH250, 67R01-0433 STAKO 417,30 €

2 3842556.0 TANK LPG TOR-CF-UP 56L-D600xH250, 67R01-0724 STAKO 410,51 €

2 3842561.0 TANK LPG TOR 61L-D650xH250, 67R01-0585 STAKO 464,74 €

2 3842562.0 TANK LPG TOR-CF 62L-D630xH250, 67R01-0724 STAKO 464,70 €

2 3842565.0 TANK LPG TOR-CF 65L-D650xH250, 67R01-0728 STAKO 488,25 €

2 3842772.0 TANK LPG TOR-CF 72L-D650xH270, 67R01-0729 STAKO 511,24 €

2 3842783.0 TANK LPG TOR 83L-D720xH270, 67R01-0586 STAKO 551,59 €

2 3842788.0 TANK LPG TOR-CF 88L-D720xH270, 67R01-0729 STAKO 544,81 €

2 3842788.5 TANK LPG TOR-CF-UP 88L-D720xH270, 67R01-0729 STAKO 564,77 €

2 3843260.0 TANK LPG CYL 60L-D320xL869, 67R01-0574 STAKO 262,99 €

2 3843270.0 TANK LPG CYL 70L-D320xL1004, 67R01-0574 STAKO 271,81 €

2 3843610.0 TANK LPG CYL 100L-D360xL1099, 67R01-0430 STAKO 466,11 €

2 3843613.0 TANK LPG CYL 130L-D360xL1411, 67R01-0430 STAKO 450,14 €

2 3853655.0 TANK LPG CYL 55L-D360xL632 67R01-1019 STAKO 331,80 €

2 3843660.0 TANK LPG CYL 60L-D360xL686, 67R01-0430 STAKO 323,21 €

2 3843670.0 TANK LPG CYL 70L-D360xL789, 67R01-0430 STAKO 377,64 €

2 3843685.0 TANK LPG CYL 85L-D360xL944, 67R01-0430 STAKO 375,18 €

2 3854512.0 TANK LPG CYL 118L-D450xL861, 67R01-0678 STAKO, LESS PRV HOLE 584,55 €

2 3854516.0 TANK LPG CYL 158L-D450xL1119, 67R01-0678 STAKO, LESS PRV HOLE 472,45 €

2 3844518.0 TANK LPG CYL 178L-D450xL1248, 67R01-0678 STAKO 504,24 €

2 3846813.0 TANK LPG CYL 130L-D360/315xL809/914, 67R01-0545 STAKO, TWIN 835,87 €

2 3852352.0 TANK LPG TOR 52L-D630xH230, 67R01-0432 STAKO 410,63 €

2 3852355.0 TANK LPG TOR 55L-D650xH230, 67R01-0584 STAKO 455,29 €

2 3852370.0 TANK LPG TOR 70L-D720xH230, 67R01-0584 STAKO 535,95 €

2 3852558.0 TANK LPG TOR 58L-D630xH250, 67R01-0433 STAKO 460,20 €

All prices excl. tax.       Page 7



Service Parts 03/2020
Cat. Part No.  Product Description Bruto Ex.

2 3852767.0 TANK LPG TOR 67L-D650xH270, 67R01-0586 STAKO 457,53 €

2 7812788.0 TANK LPG TOR-MV48 88L-D720xH270, 67R01-0630 STAKO 427,87 €

2 9811831.0 TANK LPG TOR-MV48 31L-D550xH180, 67R01-0857 MRD 184,95 €

2 9811837.0 TANK LPG TOR-MV48 37L-D600xH180, 67R01-612501 MRD 189,17 €

2 9812044.0 TANK LPG EXT-MV48 44L-D600xH200, 67R01-0882 MRD 229,90 €

2 9812051.0 TANK LPG TOR-MV48 51L-D650xH200, 67R01-0864 MRD 269,75 €

2 9812065.0 TANK LPG EXT-MV48 65L-D720xH200, 67R01-0888 MRD 340,70 €

2 9812250.0 TANK LPG EXT-MV48 50L-D600xH220, 67R01-0883 MRD 231,67 €

2 9812252.0 TANK LPG TOR-MV48 52L-D630xH220, 67R01-0859 MRD 210,26 €

2 9812272.0 TANK LPG EXT-MV48 72L-D720xH220, 67R01-0889 MRD 340,70 €

2 9812355.0 TANK LPG TOR-MV48 55L-D630xH230, 67R01-0860 MRD 212,22 €

2 9812466.0 TANK LPG EXT-MV48 66L-D650xH240, 67R01-0891 MRD 299,84 €

2 9812554.0 TANK LPG TOR-MV48 54L-D600xH250 67R01-0862 MRD 199,86 €

2 9812560.0 TANK LPG TOR-MV48 60L-D630xH250, 67R01-0862 MRD 220,01 €

2 9812776.0 TANK LPG EXT-MV48 76LD650xH270, 67R01-0893 MRD 303,71 €

2 9813246.0 TANK LPG CYL-MV48 46L-D315xL623, 67R01-0873 MRD 169,63 €

2 9813269.0 TANK LPG CYL-MV48 69L-D315xL924, 67R01-0873 MRD 173,29 €

2 9813650.0 TANK LPG CYL-MV48 50L-D360xL564, 67R01-0874 MRD 181,08 €

2 9822038.0 TANK LPG TOR-MV48 38L-D580xH200, 67R011045113 MRD 161,80 €

2 9822046.0 TANK LPG TOR-MV48 46L-D630xH200, 67R011045113 MRD 175,77 €

2 9822252.0 TANK LPG TOR-MV48 52L-D630xH220, 67R010160302 MRD 177,44 €

2 9823255.0 TANK LPG CYL-MV48 55L-D315xL753, 67R011031802 MRD 107,76 €

2 9822765.0 TANK LPG TOR-MV48 65L-D630xH270, 67R01612504 MRD 188,19 €

2 9823670.0 TANK LPG CYL-MV48 70L-D360xL758, 67R01612508 MRD 146,62 €

All prices excl. tax.       Page 8


